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e l.tan(a + b) = . ? al-— sin2x>
ad... sinx+cosx= | o
2.c5¢x = PP ] cosacosb — sinasinb
. SinX
L 3.sin(a + b) = l zx 251n )
4.sec’x = (d" CS Cx d. 1+ cot?x )
| 5.sin(a — b) = tana + tan b
H
1—tanatanb
E 6.cos(a+b) = (rana—tanb
C7.C052x: "l+tanatanb
A 8. cos?x = g cosacosh +sinasinb
i‘}.tan(a—b) = h.1 +taHZX>
3 10.cos(a — b) = _“Sinacosb + cosasinb
Aacosb—cosasinb

11. Find cos 28 given that cos 8 = % and @ is in Quadrant IV.
(2

o2& = c05*6 -siIn S & |y

) > <13>> ,‘ . ?
= 14t — 25 124X 215
109 (4,9 144 +x =16

z E“ X¢fz 35

(69
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12. Use the half-angle identity to evaluate tan 111—: exactly.

£ _ IZcosx . X

'taﬂ2." 5'nx lZ 3._-2-:
o e [~cos ' Y
—_— = 6 2 ™=
2 (n X

13. Find all solutions (in radians) in theinterval 0 < x <2m. tan(2x) +1=0
tar@x): - l Yt O x2 (oo&}ng_
¢ Solutions |

IS\ - \‘l\
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_ tan218°-tan98°
14. Find the exact value of .
1+tan218°tan98°

ton(a-b) = tona-tanb a=21%°
|+ tanatan b b=9%°

'tan(.:u%‘—q@ < tan ‘zd - (-3

~

15. Prove the identity. Show ALL steps
cotx cos2x = cotx — sin2x

LHS = cotx ( I —Zsinzx>
= Cotx — QSJ'nzx cot X

= cotx -2sin X - cosx
_ S
“cotx ~sinD

= Rﬁg
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16. Given cosa = ——, aisin Quadrant Ill, sinb = -, and b is in Quadrant II, find sin(a — b).
ain a_—- = snna C‘OSL: cosasiN b

X’?’) ()
) 4,5 w %

17. Evaluate sin (s\e/ci\)(—g)) - f
s, 4—%
17_5 o

[
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18. Find all solutions (in radians) in the interval 0 < x < 2m. cosx = 2 sin x cos x

O—-.?sinzxcosx-—cosx
O = cosx (25»’02)(— D

cosx=0 Zsin’x-1 =0

19. Prove the identity. Show ALL steps sin’x "'Ca“ Sx=|
1+ 2cos? x

— =3cscix—2 \“’Cd'x CSL
SIn x , Cot x-csdx—|
‘ 2¢os’x -

= CSC X422 (CSC’)( -D: Csc K"’ZC&C}K—Z =
=3¢5¢%-2 = RHSV
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7.5, 7.6 - Vectors /f
A vector is a directed line segment;

it has a unique length (magnitude) and direction angle

Vector Addition: /

Vectors can be added using the
Triangle Method or the Parallelogram Method

position bethvectocs

- v 4b hove the same
% \nfiad point
..L_
= A ;

resul“'a"
Pos;-lianil\a '&l ( ﬁﬂl‘hﬂlpt

of V at the had /Herm;
P of /fomicg

7.5 #28. An airplane flies 032° for 210 km, and then 280° for
170 km. How far is the plangthen, from the starting point, and
in what direction?

x =\ 012102009

0% ¥
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Homework:

« "Chapter 5 Test" on pages 526-527 of your textbook
« "Chapter 6 Test" on page 591 of your textbook

(to be collected on Wednesday)

« Read sections 7.5 and 7.6 before class tomorrow
(Tuesday)
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